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HeEesaH ME X2 1,095,185 965,381 129,804
307 elztol & 1,095,185 965,381 129,804
09 2+ AELS 1,095,185 965, 381 129,804
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09 2=FAHEXS 3,100,163 3,326,161 N225,998
O SHEHA Hixdd AB43(20HA)
3,100, 163,000 3,100, 163
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o ZHLH 20,0003 x4 H 8L+ 123 7,680
. 22 50,0003 x4 2 x 123 4,800
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201 L2 | 5,520 5,040 480
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O e+ 1,200
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202 04| 15,600 15,600
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22 50,000& *5H 22« 122 6,000
J|=2A3H| (A ALK 13,152 0 13,152
201 LBr2Ab| 3,792 3,792
01 AFR2t2ldl 3,792 3,792
O gBt=2H| 1,200
. ANIRES 100,000& x 128 1,200
O 24| 2,592
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9,000 *3H*8U x 122 2,592
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01 JIEtSIHAEES 686,325 0 686,325
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